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Note: our 82110 discusses the various 172 of 75727 and WP and how they are sequenced; the acronyms are »=p», P=¥177
=93 ST =)0

L. ®na: eating until naw or v”n
a. /7m 1. bring wine at dusk and say v11p and then nrn noa
b. »or “r continue eating until dark then bring 2 cups; one for nmn N33, the other for v1Tp
i. Challenge: why not say both on one cup?
ii.  Answer: M»an mMYan mMixn PYY PR
1.Challenge:ruling re: w”$1n — if only 1 cup, say all (1"nn721 N57an 0NV ,IRN ,1») on it
a) Answer: in that he case, he has only 1 cup
2.Challenge: when v"» falls on w”#n, he recites n"1p? on 1 cup
a) Answer: must be noa Yw »aw (as evidenced by the omission of jnt) — only 1 cup of wine left
3.Challenge: 1¢t day of 0" falls on w”%n, he recites "My’ (including jn1) - we presume plenty of wine
a) Answer: Wy nY1an are 1 theme; unlike W17p <pPrn noa
I.  Order of nYTan+W171p on V" which falls on w"¥ N
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II. ®171 and the order of n97an (story of nT’ 72 X111 27's visit to ®17’s house)
a.Xa7. said nwa and then MRn
i. Challenge: 02y w"a (n:n M311) only disagree about n v. nY71n; agree that Mxn >Dnwa
ii. Answer: that's n™’s version; N1 '1’s version is that n”a hold (contra w”1) p'nw3, then 7Rn, then nYTan
IV. R17's behavior re 1930 m>12 and ny7an (story of Rar 12 apy» 27's visit to X217's house)
a. 7927 11972 811 made a N271 on 1% cup then another on 1372 Yw V1 (of NN No11)
i. Challenge (¥”277): why not rely on first n272?
ii. Answer: per behavior of 277 *1n%n, who quoted 11 — once he says 7121 1% a0, he has n»7n no’n from 1t 1372
1.Parenthetic story: 3 nnan were at meal; 1 made n372 on each v1; 1 on 1t and 172 Yw v and 8" — only on 1%
a) pN (on each): was Tom after each o1
b) x701 90 (15 and 7372 5¥ 01Y): per 17's students (above)
c)’wn 71 (only on 1%): rejected report of 277 *1non, as 11 ruled mp> (1 272 for wITP and nH7aN)
i. Rejection: in that case, he didn’t turn away from drinking, unlike the case of rnn n1a
b. 7572/ his servant (based on instructions of X17) lit a torch from a candle (ideal for w”sn is a torch)
i. Reason (after claiming that servant was acting on his own): ideal flame for n%7an is a torch
c. 1972 he listed 4 distinctions (9/v7p, light/darkness, nny/981w, Sabbat/workweek)
i. Challenge: a1 reported that '27's n%1an was 1 line — %N% w1p 11 »71ann
1. Answer: XyWIR "1 gave a range of distinctions (as few as 3; as many as 7; assumed either 3 or 7)
2.Challenge: 811 said 4 (neither 3 nor 7)
3.Answer: final one functioned as a nR’NNY PN NPINA PYN
a) S8 have to echo theme of N nn just before N nn
b) s»r772119. have to echo theme of nnona just before N nn
¢)Practical difference: when making n%7an from naw to v
i. ’K572019: o need to say nYTan V™Y NVITPY NaY NWITP 12 before nonn
ii. Snpw: must say nYTan v NWVITHY NIW NWITP 12 before N nn
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